Often it is the _______ of the power, rather than the actual use of power to influence others.

A: tactics
B: effectiveness 
C: reliability
D: perception ( Correct )

A person in management position has more potential influence (power) than an employee who is not manager.

A: personal power
B: position power ( Correct )
C: rational persuation
D: none of the above 

A manager can have position power and personal power but a non manager can have only _______ power.

A: Personal power  ( Correct )
B: position power
C: legitimate power
D: b & c

Paul smith is a ordinary worker in a electronic organization, every time when he is absent, his friend Diana partially perform his duty.

A: Personal power
B: position power
C: legitimate power
D: b & c
E: referent power ( Correct )

Admiral Haroon suspended two commodores in naval complex, because of xyz reasons.

A: Personal power
B: position power
C: legitimate power
D: b & c
E: Coercive power  ( Correct )

Commander nasir monitor, schedule appointments, assign duties to the doctors at Armed forces Institute of Cardiology.

A: Personal power
B: position power
C: legitimate power  ( Correct )
D: b & c
E: referent power


To get people in good mood, the ________ tactic is used.

A: Ingrational  ( Correct )
B: participative management
C: rational persuation
D : b & c

Sir khuram smile & get blush after receiving increment in his salary at the end of the month.

A: Coercive power
B: rational persuation
C: legitimate power
D: reward power  ( Correct )

Sale person ask for feature detail of products from manager, the manager’s _______ power is high.

A: Coercive power
B: rational persuation
C: legitimate power
D: reward power
E: information power  ( Correct )

Having _________ power can lead to temptation to act in ways that misuse the power and may eventually lead to failure.

A: Coercive power ( Correct )
B: rational persuation
C: legitimate power
D: reward power

Labor union strike ended up after management agreed on their demands.

A: financing
B: negotiation  ( Correct )
C: rationale

Taking time to learn how to ________ before entering a deal & resolve conflicts.

A: financing
B: negotiation  ( Correct )
C: rationale


Planning process consist of:
A: research, set objectives, develop options, anticipate questions and prepare answers. ( Correct )
B: develop rapport, develop options, postponement
C : listen and ask questions, focus on obsticles, develope rapport

 _____________  negotiations are generally preffered because you can see the others person’s non-verbal behavior.

A: time-line
B: indirect
C: face to face  ( Correct )

Anticipate questions and objectives, and prepare answers is which step in negotiation.
A: postponement
B: agreement
C: negotiation
D: plan  ( Correct )

Your negotiation ability directly effects your:

A: income, relationship & station of life  ( Correct )
B: behavior, attitude and personal life
C: skills, creativity and ability

Diana avoids spending time socializing, so that she can be more productive

A: creative
B: effective
C: ineffective  ( Correct )
D: none of the above

Using reciprocity involves creating obligations and developing alliances and using them to:
A: accomplish objectives  ( Correct )
B: meet goals
C: increase productivity
D: all of the above


The theory of using the right style in right situation to succeed is:

a: collateral theory
b: contingency theory
c: behavior theory

The manager has a new complex task for her department, and she is not sure how it should be done. Her employees are experienced and like to be involved in decision making

A: directive
B: supportive
C: participative
D: achievement

The manager is putting together a new task force that will have an ambiguous task to complete the members all know each other and get along well.

A: directive
B: participative
C: supportive
D: achievement

How many leadership style are ther

A: 5
B: 4
C: 7
D: 3

The normative leadership theory and models are used to maximize 

A: performance
B: experience
C: job satisfaction
D: decisions

Vroom’s five leadership styles follow

A: decide
B: consult group
C: delegate
D: all of the above




Neutralizers are :

A: reduce the effectiveness of leader’s behavior
B: reduce performance 
C: reduce productivity

Highly skilled workers do not need a leader’s task behavior to tell them how to do their job are:

A: neutralizers
B: substitutes
C: both a & b
D: None of the above

Task structure is the extent of _______ of the job.
A: repetitiveness
B: design
C: both a & b
D: none of the above


